
P5 MATH

Primary 5 
Semester 1 Practice  



Short Answer Questions 
 

1) (a)  Write the following in numerals: 
 
                  Five million, three hundred and seven thousand and eighty-one. 
 
 
 
 
 

         Ans : (a) _______________ 
 
 

(b) Which digit in the following number is in the hundred thousands place? 
 
 

2 746 890 
 

 

    

      Ans : (b) _______________ 

 
 

2)  (a)  732000 ÷ 300 = ____________ 
 
 
 
 
 
 
 
 

        Ans : (a) ______________ 
 

(b)  38 + (42 – 6 x 4) ÷ 2  = _________ 
   

 
 

 

 

 

Ans : (b) _____________ 

 



 
3) (a) Round 14 342 to the nearest hundred. 

 
 
 
 
 
 

        Ans : (a) _______________ 
  
 
 

(b) A number when rounded to the nearest thousand is 19 000.  
     What is the largest possible value of the number? 
 

 

 
 
 
 
 

         Ans : (b) _______________ 
 

 
4) Look at the cards below. 

 
 
 
 
 
 

(a) Form the largest possible 4-digit number using all the cards above.  
   
 
 
 
      
 

        Ans : (a) _______________ 
 

(b) Form the smallest possible 4-digit even number using all the cards above.  
 
 
 
 
 
 
 
        Ans : (b) ________________ 

2 7 0 5 0 



 
5)  

 
 
 
 
 
 The rectangle above has a perimeter of 84 cm.  
 Find its area.  
 

 
  
 
   
 

 

 

 

 

Ans :  ______________cm²  
 
 
 

6)  The price of a pair of chopsticks was $2.80. 
 An shop sold 500 pairs of chopsticks. 
 How much was collected in total?  
 
 
 
 
 
 
 

 

 

 

 

 

 

 

 

Ans :  $______________  



Problem Sums  
 

7)  Mrs Tan bought 6 books. 

 She paid $34 for each book. 

 With the same amount of money, she can buy 16 identical boxes of colour 

pencils. What was the price of each box of colour pencil? 

   

  

  

 

 

 

 

 

 

 

Ans :  ________________ 

 
 

8)  Karen, Sharon and Gina had a total of 390 clips. 

 Sharon had 60 more clips than Karen and Gina combined. 

 Gina had 4 times as many clips as Karen. 

 How many clips did Karen have? 

 

  
 

 

 

 

 

 

 

Ans :  ________________ 
 
 



9)  The table below shows the number of students who can cycle from 4

classes.
Class Total number of students 

in class 

Boys who can 

cycle 

Girls who can 

cycle 

5A 36 13 16 

5B 35 12 11 

5C 34 16 8 

5D 40 14 15 

a) Find the total number of students who are not able to cycle in the four

classes.

Ans :  a)_______________ 

b) What fraction of the students in the four classes are able to cycle?

Ans :  b)_______________ 




